· What Reagan faced : The Economic problems

· The inflation creep of the 1970’s had resulted in an enormous increase in tax burden through “Bracket creep”.

· Social Security tax and Medicare had also increased the personal tax burden.

· According to Boston college economist Barry Bluestone, “31 million jobs had been destroyed between 1978 and 1982”.

· Fully, one third of all private sector jobs that existed in 1978 had disappeared by 1982.

Reaganomics stressed lower taxes, higher defense spending, and curtailed spending for social services. After a reduction of growth in the money supply by the Federal Reserve Board combined with Reaganomics to produce a severe recession in 1981-82, the Reagan years were characterized by huge budget deficits, low interest and inflation rates, and continuous economic growth.

· What Reagan faced: defense issues

· Defense spending had declined from 9.6% of GNP in Fy 1962 to 5.5% of GNP in FY1981, a decline of 43%.

· More of the  defense spending in 1981 was directed towards salaries and pensions than in 1962.

· CIA reports showed that defense expenditures in the soviet union were twice as high as a percent of the out put) than U.S. defense expenditures, Implying that the U.S.S.R. was spending 45% more on defense than the U.S.

· In 1979 the Soviet Union invaded Afghanistan and the U.S Embassy in Iran was seized.

· Results ( #1)

· Despite the  tax cuts of 1981,federal tax revenues nearly doubled in the Reagan years.( Washington times 8/25/92)

· Real inflation-adjusted manufacturing output rose to it’s highest point of the post WWII period.

· In 1989, capital goods production was 38% of total manufacturing production, as compared with 1967 when it was 28%.

· In 1989, exports of capital goods were 45% of total capital goods production, compared to 20% in 1967.

· Results( #2)

· Domestic based manufacturing employment fell from 20.3 million in 1980 to 19.2 million in 1990, a decline of 6%, probably as a result of productivity gains.

· U.S. exports of manufacturing goods grew by 90% between 1986 and 1992, compared with 25% for the rest of the OECD countries.

· Results (#3)

· The U.S raised it’s share of the worlds manufacturing exports from 14% in 1987 to 18% in 1991 .

· In 1990, the U.S.’s share of world manufacturing exports was the same as in 1975

· Results (#4)

· More than 18 million new jobs were created in the 1980”s in the U.S., this was more than Japan, Britain, and Germany combined.

· 80 % of the jobs created were high- pay, High-skill , Managerial and technical positions. 12% were low skilled service jobs.

· While real wages declined from $11.41 per hour in 1978 to $10.02 per hour in 1990, workers total compensation package increased as workers demanded increase benefits.

· Results(#5)

· Reaganomics did not gut social welfare programs. In fact, social welfare spending was the largest cause of the budget deficits of the Reagan administrations.

· Outlays for means tested programs rose 19.7% from 1982-1989 (CPI adjusted) as a percentage of GNP, this is a higher rate than the Carter administration

· Reagan concentrated on economic issues his first six months in office. Reaganomics was the name given to the supply-side economic theory which Reagan based his economic plans. Reagan followed this model in creating his budget plan in 1981. Reagan put together legislation that cut government expenditures by $40 billion and created a three year tax cut plan for individual and corporate income taxes. The tax cut was the largest in history and was expected to jump start the economy .
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